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IESR MIILTiEERE BRI R) S ERT EHERES
% # s - BRHE By B il & & 1

BRI 4,689,360 + 99,836 4,789, 196
EEAGE 4,689, 360
EERE 99, 836
Z DR 4,689,360 x 53.85% ( 35% + (1 — 35%) ) 2,525,220
SRR 4,789,196 + 2,525, 220 7,314, 416
—REEEE 7,314,416 x 53.85% ( 35% = (1 — 35% ) ) — 3,229 3,935, 584
E A% 7,314,416 + 3,935,584 11, 250, 000
B FEZET 11,250,000 x 10.00% 1,125, 000
EBERREM 11,250,000 + 1,125,000 12, 375, 000




BEARRE MILT S EE Bl R) S ERE SRR L%
2 o 1B - BIRTE B . i ¢ = ]
EER 1 4,789, 196
HEREEHERER 4,789,196
STERAEEHMER 4,789, 196
STERAEEHMER 4,689, 360
FHE i 220, 200
1 ETE#E 1.00 220, 200 220, 200
%
BEHERBY 1,653, 150
? HEARERBY 1.00 130, 300 130, 300
#
3 FHMINERVEHEHE 3.00 112, 500 337, 500
#
4 HEAE 1.00 158, 750 158, 750
#
5 REERK 7.00 89, 850 628, 950
1
6 $iEFE 1.00 89, 850 89, 850
#
1 B\, &Et 2.00 153, 900 307, 800
#
EHERE 2,066, 750
8 MIiREt 1.00 1,071, 550 1,071, 550
%
9 HmEERK 1.00 571,750 5717, 750
%
10 =518 1.00 213, 300 213, 300
%
1M BEIZEDETE 1.00 204,150 204, 150
%




BEARRE MILT S EE Bl R) S ERE SRR L%

i - |E 305, 700

12 BRTHE 1.00 117, 400 117, 400
=l

13 RRI|E 1.00 188, 300 188, 300
]

REY 443, 560

14 £HTHRREER 1.00 443, 560 443, 560
=

EEEE 99, 836

EBRARE 43, 836

15 EHRARE 1.00 43,836 43, 836
=

R 56, 000

16 EHHE R 1.00 56, 000 56, 000
=




RER-FET/ 5 — MMLTEERRE CEER) STEAEEHERER
&5 1
275 FHEEE IEED
£ b3 B - BIKTE =-Fiv] = fili ] w =
F{EHRAm GRED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
HEh (C)
A 2.00 35, 600. 00 71, 200
i &
A 1.00 31, 600. 00 31, 600
& B 1EZRERN  1.00K 220, 200. 00 220, 200
52
&% HEEFMEREE 154y
% b R - KT BT 2 i 2 H %
HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 1.50 35, 600. 00 53, 400
Hit &
A 1.00 31, 600. 00 31, 600
& B 1E%8EN - 1.004% 130, 300. 00 130, 300
5.3
&% BRNERVEHER LER
% L] g - BIRTiE ==Rivi 2 i £ g &
HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 1.00 35, 600. 00 35, 600
Hit &
A 1.00 31, 600. 00 31, 600
= B YE¥RED 1,004 112, 500. 00 112, 500




RER-FET/\vr— ML T 25 mE CERR) StERAE SR ER LR
=:4
2%  BiEa 1424
2 7 1B - R By B 1 ¢ H w =
BE (A)
A 1.00 55, 200. 00 55, 200
BET (B)
A 1.50 45, 300. 00 67, 950
H®ET (C)
A 1.00 35, 600. 00 35, 600
& H YEZERED - 1. 004 158, 750. 00 158, 750
EES:5
2% : REER 144 Y
2 7 1B - IR B B 1 & %= % =
e (B)
A 0.50 45, 300. 00 22, 650
HEm (C)
A 1.00 35, 600. 00 35, 600
Biia
A 1.00 31, 600. 00 31, 600
=) 5 YEZERES : 1. 008K 89, 850. 00 89, 850
E=S:6
2% MEHE 1424y
2 7 B - R B B i £+ = # =
®Em (B)
A 0.50 45, 300. 00 22, 650
HEm (C)
A 1.00 35, 600. 00 35, 600
)
A 1.00 31, 600. 00 31, 600
=) 5 1E¥8E - 1.004% 89, 850. 00 89, 850




RER-FET/\vr— ML T 25 mE CERR) StERAE SR ER LR
=:17
2 ESLHH. B 1424
2 7 1B - R By B B ff ¢ H w =
BE (A)
A 1.00 55, 200. 00 55, 200
BET (B)
A 1.00 45, 300. 00 45, 300
H®ET (C)
A 1.50 35, 600. 00 53, 400
& H YEZERED - 1. 004 153, 900. 00 153, 900
E=S:8
&% MTiRE EEL)
2 7 1B - IR B B B & %= % =
F AR (BED
A 1.00 62, 200. 00 62, 200
e (A)
A 3.50 55, 200. 00 193, 200
e (B)
A 7.50 45, 300. 00 339, 750
HEm (C)
A 8.50 35, 600. 00 302, 600
Biia
A 5.50 31, 600. 00 173, 800
=) 5 YEZEREN  1.00=K 1,071, 550. 00 1,071, 550
E=:9
2%  REER EE)
2 7 B - R B B B @ £+ = # =
®Em (B)
A 1.50 45, 300. 00 67, 950
HEm (C)
A 5.00 35, 600. 00 178, 000
)
A 10. 50 31, 600. 00 331, 800
= H YEZEREN - 1. 00K 5717, 750. 00 5717, 7150




RER-FET/\vr— ML T 25 mE CERR) StERAE SR ER LR
E#5:10
2 MBHE EEL
2 zfr\ 1B - R By B 1 ¢ H % =
BET (B)
A 1.00 45, 300. 00 45, 300
H®ET (C)
A 2.50 35, 600. 00 89, 000
-
A 2.50 31, 600. 00 79, 000
& H YEZERED 1. 00K 213, 300. 00 213, 300
5: 1
2% BEISBEOEE EEL)
2 7 1B - IR B B 1 & %= % =
e (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 1.50 45, 300. 00 67, 950
HEm (C)
A 1.50 35, 600. 00 53, 400
=) it YEZEREN  1.00=K 204, 150. 00 204, 150
55 :12
&% BATGE @Y
2 7 B - R B B i £+ = B =
FEFE (%D
A 1.00 62, 200. 00 62, 200
RET (A)
A 1.00 55, 200. 00 55, 200
=) it 1E¥8E : 1.00[E 117, 400. 00 117, 400




R &I/ \vr—2

MR TEEEF (et R) StERAEEMERES

&S 13
2% . RS IEED)
£ [ R - KT B = i £ £ w =
&
A 1.00 70, 900. 00 70, 900
F{EHRAm GRED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
& Hi 1YEZRER : 1.00[E 188, 300. 00 188, 300
ES5:14
£ EBTEREEER 14y
4 b R - KT B = Ll & ) H %
FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 2.80 35, 600. 00 99, 680
Hiftg
A 4.30 31, 600. 00 135, 880
& B 1E%8ERH : 1.00=C 443, 560. 00 443, 560
= :15
2% ERARE X5y
% L] R - KT B = il £ %8 g &
EXARE
=® 1.00 43, 836. 00 43, 836
& B 1E%8ESN : 1.00=C 43, 836. 00 43, 836




R &I/ \vr—2

MR TEEEF (et R) StERAEEMERES

&5 .16
£ EBRESR 1%Ly
£ i} B - BIKsTiE Bifs = B & % " %
EBRRERE
= 1.00 56, 000. 00 56, 000
& &t 1EZ%EBER - 1.00K 56, 000. 00 56, 000






